
CHEMISTRY

FOR IIT JEE ASPIRANTS OF CLASS 12 FOR

CHEMISTRY

ORGANIC COMPOUNDS CONTAINING

NITROGEN

Example

1. Write chemical equations for the following

reactions: 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ojjmtlw2x1tj


(i) Reaction of ethanolic  with  


(ii) Ammonolysis of benzyl chloride and reaction of

amine so formed with two moles of 

Watch Video Solution

NH3 C2H5Cl.

CH3Cl.

2. Write chemical equations for the following

conversions : 

 into 

 


 into 

Watch Video Solution

CH3 − CH2 − Cl

CH3 − CH2 − CH2 − NH2

C6H5 − CH2 − Cl

C6H5 − CH2 − CH2 − NH2

https://dl.doubtnut.com/l/_ojjmtlw2x1tj
https://dl.doubtnut.com/l/_aon7JdpxdhPd


3. Write structures and IUPAC names of 

(i) the amide which gives propanamine by

Hoffmann bromamide reaction. 

(ii) the amine produced by the Hoffmann

degradation of benzamide.

Watch Video Solution

4. What is carbyl amine reaction ?

Watch Video Solution

https://dl.doubtnut.com/l/_aon7JdpxdhPd
https://dl.doubtnut.com/l/_tOhyBMFwVi1y
https://dl.doubtnut.com/l/_bFoRZ6UPoilM
https://dl.doubtnut.com/l/_rVa0TGFXo3nN


5. What happen when n-ethyl formamide heated in

presenc of 

Watch Video Solution

POCl3

6. Arrange the given species in the increasing

order of basicity. 

View Text Solution

https://dl.doubtnut.com/l/_rVa0TGFXo3nN
https://dl.doubtnut.com/l/_gld0TPZ5BCi3


7. Use simple chemical tests to distinguish Anilie

from N-methylaniline.

Watch Video Solution

8. What is diazotisation

Watch Video Solution

9. What is the reaction between Aniline &

Bromine.

Watch Video Solution

https://dl.doubtnut.com/l/_BeIejiFZplWX
https://dl.doubtnut.com/l/_85n3aMXYisjw
https://dl.doubtnut.com/l/_5gjLLxAXX5Ip


Evaluate Yourself 1

1. Gabriel phthalimide synthesis is used in the

preparation of

A. Primary amine

B. Secondary amine

C. Tertiary amine

D. All of these

Answer: A

https://dl.doubtnut.com/l/_5gjLLxAXX5Ip
https://dl.doubtnut.com/l/_GlzujuZdJeKh


Watch Video Solution

2. The compound having the molecular formula

 can represent

A. Trimethylamine

B. n-propylamine

C. Isopropylamine

D. All of three

Answer: D

Watch Video Solution

C3H9N

https://dl.doubtnut.com/l/_GlzujuZdJeKh
https://dl.doubtnut.com/l/_tjzoxYB6dgoA


3. Which of the following compounds is expected

to be most basic :

A. Aniline

B. Ethylamine

C. Hydroxylamine

D. Methylamine

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_y2LnaNpSpEIa


4. The reaction, 

 is

called

A. Hofmann's bromamide reaction

B. Mendius reaction

C. Sabatier reaction

D. None of these

Answer: B

Watch Video Solution

CH3CN + 4H
Na/C2H5OH

−−−−−−−→ CH3CH2NH2

https://dl.doubtnut.com/l/_pPacRCPgfDbD


Evaluate Yourself 2

1. Nitromethane is subjected to treatment with

chlorine in the presence of sodium hydroxide, the

main product is:

A. Monochloronitromethane

B. Trichloromethane

C. Chloropicrin

D. None of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ri2h8RAZ5zNV


2. Nitroalkane is acidic only towards :

A. 

B. NaOH

C. Alcohol

D. Liquid 

Answer: B

View Text Solution

Na2CO3

NH3

https://dl.doubtnut.com/l/_ri2h8RAZ5zNV
https://dl.doubtnut.com/l/_jXopGBapcEYK


3. Which of the following is tertiary nitroalkane ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CH2 − O − N = O

CH3 −

CH3

∣

C
∣

CH3

− O − N = O

https://dl.doubtnut.com/l/_OaI9D08v8xmT


4. Which is more basic

A. Benzylamine

B. Aniline

C. Acetamide

D. o-methyl aniline

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nLA56OErcd5A


Evaluate Yourself 3

5. Amongst the following, the strongest base in

aqueous medium is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3NH2

(CH3)2N

(CH3)2NH

C6H5NHCH3

https://dl.doubtnut.com/l/_zqoSC5G3yxcm


1. Benzenediazonium chloride is reduced to

benzene by

A. Phosphorus acid

B. Hypophosphorus acid

C. Hypophosphoric acid

D. Phosphine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Z2pUpHcbD9Lq


2. The strongest base among the following is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RKpEM5ihvN3q


3. Aniline when diazotised in cold and then

treated with dimethyl aniline gives a coloured

product . Its structure would be :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FApU2D5EP8kZ
https://dl.doubtnut.com/l/_IK6hWXSDWCcB


4. When acetamide is treated with  and

caustic soda, then we get

A. Bromoacetic acid

B. Acetic acid

C. Methylamine

D. Ethane

Answer: C

Watch Video Solution

Br2

https://dl.doubtnut.com/l/_IK6hWXSDWCcB


5.  


In above reaction hybridisation state of carbon

changes from

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−CONH2
Reduction
−−−−−→ − CH2NH2

sp → sp2

sp → sp3

sp2 → sp3

sp2 → sp

https://dl.doubtnut.com/l/_lAckSqSBKWAl


Cuq Iupac Naming Of Amines

1. Which of the following systematic name &

names are correct for 

4-Bromo-2-Ethyl aniline 

4-Bromo-2 Ethyl Benzenamine 

4-Bromo-2-Ethyl Amino benzene 

3-Bromo-1-Ethyl benzanamine

A. only D

B. A and B only

C. A,B, C only

https://dl.doubtnut.com/l/_veGMPB1Xxc40


D. A, B, C, D

Answer: C

View Text Solution

2. IUPAC name of 

A. 1,2-Propane diamine

B. Propanamine 1,2

C. Dipropane 1,2-amine

D. Diamino 1,2-Propane

H2N − CH2 − C
∣

NH2

H − CH3

https://dl.doubtnut.com/l/_veGMPB1Xxc40
https://dl.doubtnut.com/l/_BQSygaifSABQ


Answer: A

Watch Video Solution

3. The structural formula of N-methyl

Aminomethane is

A. 

B. 

C. 

D. 

Answer: C

(CH3)2CHNH2

(CH3)3N

(CH3)2NH

CH3NH2

https://dl.doubtnut.com/l/_BQSygaifSABQ
https://dl.doubtnut.com/l/_lri6921boiNe


Watch Video Solution

4. IUPAC name of  is

A. 1-Propanamine

B. 2-Methyl ethanamine

C. Iso-Propylamine

D. -Propylamine

Answer: A

Watch Video Solution

CH3(CH2)2NH2

2∘

https://dl.doubtnut.com/l/_lri6921boiNe
https://dl.doubtnut.com/l/_5TZ9bsLGqKGS
https://dl.doubtnut.com/l/_jDYtqA7jY6fN


5. IUPAC name of 

A. 2-phenyl ethanamide

B. 2-phenyl ethanamine

C. 2-phenyl ethylamine

D. 3-phenyl ehtanamine

Answer: B

Watch Video Solution

C6H5 − CH2 − CH2 − NH2

6. The total number of structural isomers possible

for an amine with molecular formula  isC4H11N

https://dl.doubtnut.com/l/_jDYtqA7jY6fN
https://dl.doubtnut.com/l/_jt9lq57a7E2A


A. 6

B. 5

C. 7

D. 8

Answer: D

Watch Video Solution

7. Which one of the following is not a primary

amine ?

A. tert-Butylamine

https://dl.doubtnut.com/l/_jt9lq57a7E2A
https://dl.doubtnut.com/l/_CkQlOTsKy0lg


B. Dimethylamine

C. sec-Butylamine

D. iso-Butylamine

Answer: B

Watch Video Solution

8. Which of the following is a secondary amine ?

A. 2-Butananmine

B. N-Methylpiperidine

C. N-Methyl-2-pentanamine

https://dl.doubtnut.com/l/_CkQlOTsKy0lg
https://dl.doubtnut.com/l/_yLebZXPbe8TM


D. p-Anisidine

Answer: C

Watch Video Solution

9. Carbylamine reaction is given by

A. aliphatic  amines only

B. aromatic  amines only

C. both aliphatic and aromatic primary amines

D. all secondary amines and diazonium salt

1∘

1∘

https://dl.doubtnut.com/l/_yLebZXPbe8TM
https://dl.doubtnut.com/l/_Y5VGi5lZdy7i


Answer: C

Watch Video Solution

10. How many primary amines are possible for the

formula 

A. 1

B. 2

C. 3

D. 4

Answer: D

C4H11N

https://dl.doubtnut.com/l/_Y5VGi5lZdy7i
https://dl.doubtnut.com/l/_AFTSjFTajKHR


Watch Video Solution

11. Which of the following should be most valatile

? 

 


 


 


A. II

B. IV

C. I

CH3CH2CH2NH2

(CH3)3N

C2H5 − NH − CH3

CH3CH2CH3

https://dl.doubtnut.com/l/_AFTSjFTajKHR
https://dl.doubtnut.com/l/_e9HImLm8PNpJ


D. III

Answer: B

View Text Solution

12. The structure given below represents 

A. Quartermary ammonium salt

B. Primary amine

C. Secondary amine

CH3 −

CH3

∣

C
∣

CH3

− NH2

https://dl.doubtnut.com/l/_e9HImLm8PNpJ
https://dl.doubtnut.com/l/_IvVvzspJv1Pb


D. Tertiary amine

Answer: B

Watch Video Solution

13. The product of the chemical reaction, 

 will be

A. 

B. 

C. 

CH3 −

O

∣ ∣

C − NH2 + Br + 4NaOH →

CH4

CH3Br

CH3OBr

https://dl.doubtnut.com/l/_IvVvzspJv1Pb
https://dl.doubtnut.com/l/_ypOLkw72mXcv


D. 

Answer: D

Watch Video Solution

CH3NH2

14. Gabriel phthalimide synthesis is used in the

preparation of

A. secondary amines

B. amides

C. primary amines

D. tertiary amines

https://dl.doubtnut.com/l/_ypOLkw72mXcv
https://dl.doubtnut.com/l/_D54bmpFX0eb4


Answer: C

Watch Video Solution

15. Which of the following reactions does not yield

an amine ?

A. 

B. 

C. 

D. 

Answer: C

R − X + NH3
373

−−→

R − CH = NOH + [H]
Na

−−−−→
C2H5OH

R − CN + H2O
H +

−−→

R − CONH2 + 4[H]
LiAIH4

−−−−→

https://dl.doubtnut.com/l/_D54bmpFX0eb4
https://dl.doubtnut.com/l/_dSp0Icvx2pof


Watch Video Solution

16. In the given set of reactions : 

 


The IUPAC name of product 'Y' is :

A. N-isopropymethanamine

B. N-methylpropan-2-amine

C. N-methylpropanamine

D. butan-2-amine

Answer: B

h id l i

2 − Bromopropane 
alc.AgCN

−−−−−−→
Δ

'X'
LiAIH4

−−−−→ ' Y '

https://dl.doubtnut.com/l/_dSp0Icvx2pof
https://dl.doubtnut.com/l/_0mxWzvNcV610


Watch Video Solution

17. The major product formed when alkyl iodides is

treated with excess of ammonia

A. priamry amine

B. Secondary amine

C. Tertiary amine

D. quatermary ammonium salt

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0mxWzvNcV610
https://dl.doubtnut.com/l/_KtkftfCRZLg5


18. Which one of the following reagent will convert

acetamide to ethanamine?

A. Phosphorus pentoxide

B. Lithium aliminium hydride

C. Potassium cyanide

D. Bromine and sodium hydroxide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_h1Nv4ZzVanuj


19. Aniline is more basic than

A. 

B. 

C. N methyl aniline

D. P-nitroaniline

Answer: D

Watch Video Solution

NH3

CH3NH2

20. Which of the following is the strongest base ?

https://dl.doubtnut.com/l/_EGcfzW0RjMrx
https://dl.doubtnut.com/l/_iVl8gL6n63yd


A. Aniline

B. N-methyl aniline

C. O-methyl aniline

D. Benzylamine

Answer: D

Watch Video Solution

21. In the reaction of  may

be

A. 

C6H5OH
NH2

−−−→
ZnCl2

X, 'X'

C6H5NH2

https://dl.doubtnut.com/l/_iVl8gL6n63yd
https://dl.doubtnut.com/l/_UgVzMRckywkz


B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5Cl

C6H5CHO

C6H5COOH

22. During the nitration of aniline, the amino

group is protected by

A. converting it to  group

B. converting it to Carboxylic group

NO2

https://dl.doubtnut.com/l/_UgVzMRckywkz
https://dl.doubtnut.com/l/_H2Sd6yegM0eL


C. Acylation

D. Benzoylation

Answer: C

Watch Video Solution

23. Aniline when treated with benzoyl chloride,

gives benzanilide the reaction is known as

A. Perkin

B. Hofmann

C. Schotten baumann

https://dl.doubtnut.com/l/_H2Sd6yegM0eL
https://dl.doubtnut.com/l/_0KEntziyanr7


D. Benzoin

Answer: C

Watch Video Solution

24. In phenyl isocyanide the carbons are

_____hybridised.

A. 

B. 

C. 

D. 

sp2, sp2

sp3

sp2, sp

sp3

https://dl.doubtnut.com/l/_0KEntziyanr7
https://dl.doubtnut.com/l/_LSnW0e86Rzk9


Answer: C

Watch Video Solution

25. Schiffs base is used as a

A. oxidant

B. Hydrolysing agent

C. antichlor

D. antioxidant

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LSnW0e86Rzk9
https://dl.doubtnut.com/l/_jzHbtNFLX0VR


Exercise 1 C W Iupac Naming

Watch Video Solution

1. Systematic name of 

A. 4-amino benzene carbaldehyde

B. P-amino benzaldehyde

C. 3-amino benzaldehyde

D. 4-formylamine

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_jzHbtNFLX0VR
https://dl.doubtnut.com/l/_6eBxWVA4Oi6Q


2. The IUPAC name of  is

A. methylamine

B. amino ethane

C. methanamine

D. Ethylamine

Answer: C

Watch Video Solution

CH3NH2

https://dl.doubtnut.com/l/_6eBxWVA4Oi6Q
https://dl.doubtnut.com/l/_iBiEPNMr2tMP


3. Aniline can be industrially prepared from nitro

benzene by using

A. 

B. amino ethane

C. methanamine

D. Ethylamine

Answer: D

Watch Video Solution

LiAIH4

https://dl.doubtnut.com/l/_s0sij3yY30kr


Exercise 1 C W Classification And Prepration Of

Amine

1. How many primary amines are possible for the

formula 

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

C4H11N

https://dl.doubtnut.com/l/_8hKUWCCBBseD


2. The number of structure isomers possible from

the molecular formula  is:

A. 5

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

C3H9N

https://dl.doubtnut.com/l/_8hKUWCCBBseD
https://dl.doubtnut.com/l/_ODsdnFog4YPV
https://dl.doubtnut.com/l/_t2QWfcfO5F0K


3. The product of the chemical reaction, 

 ? Will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 −

O

∣ ∣

C − NH2 + Br2 + 4NaOH →

CH4

CH3NBr

CH3Obr

CH3NH2

https://dl.doubtnut.com/l/_t2QWfcfO5F0K


4. Gabriel phthalimide synthesis is used in the

preparation of

A. secondary amines

B. amides

C. primary amines

D. tertiary amines

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AV6yDAjToUZ1


5. Which of the following reactions does not yield

an amine ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 − Cl + NH3
373K
−−→

R − CH = NOH + [H]
Na

−−−−→
C2H5OH

R −

O

∣ ∣

C − NH2

H2

−−−→

∅

H +

R − CONH2 + 4[H]
LiAIH4

−−−−→

https://dl.doubtnut.com/l/_cNRif1Zb4HTV


6. Which of the following amides will not undergo

Hofmann bromamide reaction?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CONHCH3

CH3CH2CONH2

CH2CONH2

C6H5CONH2

https://dl.doubtnut.com/l/_xb7gxcS0zOgh


7. In the given set of reactions : 

 


The IUPAC name of product 'Y' is :

A. N-isopropylmethanamine

B. N-methylpropan-2-amine

C. N-methylpropanamine

D. butan-2-amine

Answer: B

Watch Video Solution

2 − Bromopropane 
alc.AgCN

−−−−−−→
Δ

'X'
LiAIH4

−−−−→ ' Y '

https://dl.doubtnut.com/l/_GOzC8x55fckY
https://dl.doubtnut.com/l/_leUePACcT906


8. The major product formed when alkyl iodides is

treated with ammonia

A. primary amine

B. secondary amine

C. tertiary amine

D. quatermary ammonium salt

Answer: A

Watch Video Solution

9. Which is most acidic in nature?

https://dl.doubtnut.com/l/_leUePACcT906
https://dl.doubtnut.com/l/_Szw42AwwRJ9Q


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5

+
NH3

10. Identify the product C in the series. 

A. 

C6H5NO2
FeHCl
−−−→ A

NaNO2 +HCl
−−−−−−−−→

273K
B

H2O
−−→

283
C

C6H5OH

https://dl.doubtnut.com/l/_Szw42AwwRJ9Q
https://dl.doubtnut.com/l/_5il4oio1iA6i


B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5CH2OH

C6H5CHO

C6H5NH2

11. In Gabriel synthesis, halide may be

A. Benzyl halide

B. Allyl halide

C. both

https://dl.doubtnut.com/l/_5il4oio1iA6i
https://dl.doubtnut.com/l/_W3CkfcvBEMN2


D.  alkyl halide

Answer: C

Watch Video Solution

3∘

12. Which of the following reagents would not be

a good choice for reducing an aryl nitro

compound to an amine?

A. 

B.  in ether

C. Fe and HCl

H2(excess) /Pt

LiAIH4

https://dl.doubtnut.com/l/_W3CkfcvBEMN2
https://dl.doubtnut.com/l/_Gm57UCZlstvF


Exercise 1 C W Basicity

D. Sn and HCl

Answer: B

Watch Video Solution

1. Arrange the following in the correct order of

their basic character in gaseous phase 

A. 

I)NH3(II)RNH2(III)R2NH(IV )R3N

IV > III > II > I

https://dl.doubtnut.com/l/_Gm57UCZlstvF
https://dl.doubtnut.com/l/_hyRcYcF058RN


B. 

C. 

D. 

Answer: A

Watch Video Solution

III > IV > II > I

III > II > IV > I

I > II > III > IV

2. Out of the following compounds, which is the

most basic in aqueous medium?

A. 

B. 

CH3NH2

(CH3)2NH

https://dl.doubtnut.com/l/_hyRcYcF058RN
https://dl.doubtnut.com/l/_Evw7jwQ5fexO


Exercise 1 C W Benzene Diazonium Salt

C. 

D. 

Answer: B

Watch Video Solution

(CH3)3N

C6H5NH2

1. Benzene diazonium chloride is the product

when aniline is treated with

A.  and HCl at CNaNO2 0 − 5∘

https://dl.doubtnut.com/l/_Evw7jwQ5fexO
https://dl.doubtnut.com/l/_A5vfRmtVTNgM


B.  and HCl at C

C.  at 

D.  at 

Answer: A

Watch Video Solution

HNO3 4∘

C6H5NO2 4∘C

NaNO2 4∘C

2. Aniline is treated with  water at room

temperature to give the following product

A. 

B. 

Br2

https://dl.doubtnut.com/l/_A5vfRmtVTNgM
https://dl.doubtnut.com/l/_yicsXLGu7gth


C. 

D. 

Answer: D

Watch Video Solution

3. For the conversion of Aniline to N-Methyle

aniline, the reagent used is

A. 

B. 

C. 

CH3I

C6H5Cl

CH4

https://dl.doubtnut.com/l/_yicsXLGu7gth
https://dl.doubtnut.com/l/_jLSOrFvHnkQY


D. 

Answer: A

Watch Video Solution

CH3NH2

4. Activation of benzene by  group can be

reduced by treating the compound with

A. acetic acid

B. acetyl chloride

C. dilute HCl

D. Methyl alcohol

−NH2

https://dl.doubtnut.com/l/_jLSOrFvHnkQY
https://dl.doubtnut.com/l/_9zv1EZUVIIqT


Answer: B

Watch Video Solution

5. Aniline when treated with chloroform in

presence of basic medium, gives following

compound

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_9zv1EZUVIIqT
https://dl.doubtnut.com/l/_J5cVKBMQv1SF


Answer: A

Watch Video Solution

6. 2,4,6-tibromo aniline is a product of

A. electrophilic addition on 

B. electrophilic substitution 

C. nucleophilic addition on 

D. nucleophilic substitution on 

Answer: B

Watch Video Solution

C6H5NH2

C6H5NH2

C6H5NH2

C6H5NH2

https://dl.doubtnut.com/l/_J5cVKBMQv1SF
https://dl.doubtnut.com/l/_55GSgDv251to


Exercise 1 C W Other Compounds Of Nitrogen

Watch Video Solution

1. Aniline undergoes condensation to form Schiff's

base on reacting with

A. acetyl chloride

B. ammonia

C. Acetone

D. Benzaldehyde

Answer: D

https://dl.doubtnut.com/l/_55GSgDv251to
https://dl.doubtnut.com/l/_qkzekJohplRB


Watch Video Solution

2. Primary amines can be distiguished from other

amines by the following test

A. Tollen's

B. Schiff's

C. Carbyl amine

D. Fehling

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qkzekJohplRB
https://dl.doubtnut.com/l/_mveT5QsR1XGC


3. Which of the following functional groups

undergoes hydrolysis with alkali to yield an acid

group

A. CHO

B. CN

C. 

D. Br

Answer: B

Watch Video Solution

COCH2

https://dl.doubtnut.com/l/_PncKo0EroBlE


Exercise 1 H W Iupac Naming

1. IUPAC name of aniline

A. Phenyl amine

B. Amino benzene

C. Benzyl amine

D. Benzenamine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_FToj44BBB2rq
https://dl.doubtnut.com/l/_l6Hz4jzQVeg9


2. The reducing agent used for preparing aniline

from nitro benzene in the laboratory is

A. 

B. 

C. 

D. Fe-steam and HCl

Answer: C

View Text Solution

LiAIH4

Na/C2H5OH

Sn/HCl

3. Primary, secondary and tertiary amines are

https://dl.doubtnut.com/l/_l6Hz4jzQVeg9
https://dl.doubtnut.com/l/_jkSGOfxpRyrg


Exercise 1 H W Classification And Prepration Of Anine

A. Metamer

B. Position isomers

C. Functional isomer

D. Tautomer

Answer: C

Watch Video Solution

1. Which of the following pair is correctly matched

https://dl.doubtnut.com/l/_jkSGOfxpRyrg
https://dl.doubtnut.com/l/_xNJwt8DBLa8a


A. Curtius reaction,carboxylic acid

B. Hoffmann rearrangement hydrazoic acid

C. Schmidt reaction-carboxylic acid

D. Lossen rearrangement acid chloride

Answer: C

View Text Solution

2. Based on which method amines are prepared ?

A. Reduction of nitro compounds

B. Ammonolysis of alkyl halides

https://dl.doubtnut.com/l/_xNJwt8DBLa8a
https://dl.doubtnut.com/l/_gwW5vUzLHJD3


C. Reduction of nitriles and amides

D. All of the above

Answer: D

Watch Video Solution

3. Which one of the following reagent will convert

acetamide to ethanamine?

A. Phosphorus pentoxide

B. Lithium aliminium hydride

C. Potassium cyanide

https://dl.doubtnut.com/l/_gwW5vUzLHJD3
https://dl.doubtnut.com/l/_btPlm2KkrHVH


D. Bromine and sodium hydroxide

Answer: D

Watch Video Solution

4. Which of the following will not give a primary

amine ?

A. 

B. 

C. 

D. 

CH3CN
LiAIH4

−−−−→

CH3N'C
LiAIH4

−−−−→

CH3CONH2 →

CH3CONH2
Br4 .NaOH
−−−−−−→

https://dl.doubtnut.com/l/_btPlm2KkrHVH
https://dl.doubtnut.com/l/_QtXC5BaGY2ZX


Answer: B

Watch Video Solution

5.  


The final product  is :

A. 

B. 

C. 

D. 

Answer: A

PhCH2Cl
aq. NaCN
−−−−−→

Catalytic hydrogenation
−−−−−−−−−−−−−→ ( ∪ )

( ∪ )

C6H5CH2NH2

C6H5CH2CONH2

C6H5CH2NH2

C6H5CH2NHCH3

https://dl.doubtnut.com/l/_QtXC5BaGY2ZX
https://dl.doubtnut.com/l/_4bcMMNaVimVQ


Exercise 1 H W Chemical Properties Benzene

Diazonium

Watch Video Solution

1. In a set of reactions m-bromobenzoic acid gave

product D. Identify the product D. 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_4bcMMNaVimVQ
https://dl.doubtnut.com/l/_psFulg6xdcMC


D. 

Answer: C

View Text Solution

2. In the reaction ,

 

reagents R and  are

A. ethyl amine, ethanol

B. ethyl amine, sodium borohydride

C. ethyl amine, hydrogen peroxide

R1

https://dl.doubtnut.com/l/_psFulg6xdcMC
https://dl.doubtnut.com/l/_pKLfVcPbuvXs


D. ethyl alcohol, sodium metal

Answer: A

View Text Solution

3. 

, D is

A. 

B. 

C. 

CH3CH2Br
Aq .KOH
−−−−−→

Δ
A

KMnO4 /H +

−−−−−−−→
Δ

B
NH3
−−→

Δ
C

Br2
−−→
Alkali

D

CH3Br

CH3CONH2

CH3NH2

https://dl.doubtnut.com/l/_pKLfVcPbuvXs
https://dl.doubtnut.com/l/_VZ4CPRbzIrk0


D. 

Answer: C

Watch Video Solution

CHBr3

4. Among the following which one does not act as

an intermediate in hofmann rearrangement

A. RNCO

B. RCON

C. RCONHBr

D. RNC

https://dl.doubtnut.com/l/_VZ4CPRbzIrk0
https://dl.doubtnut.com/l/_pPCoshp3IsZE


Answer: D

Watch Video Solution

5. A secondary amine could be prepared readily

from the starting material

A. alkyl isocyanide

B. alkyl cyanide

C. alkanamide

D. phthalimide and alkyl halide

Answer: A

https://dl.doubtnut.com/l/_pPCoshp3IsZE
https://dl.doubtnut.com/l/_ZFDttNEHrQIQ


Watch Video Solution

6. Match ther compounds given in List I with their

characteristic reactions given in List II.Select the

correct option . 

A. a-ii, b-I, c-iv, d-iii

B. a-iii, b-ii, c-I, d-iv

C. a-ii, b-iii, c-I, d-iv

D. a-iv, b-ii, c-iii, d-i

https://dl.doubtnut.com/l/_ZFDttNEHrQIQ
https://dl.doubtnut.com/l/_lrtSslY0UZ5O


Exercise 1 H W Basicity

Answer: C

View Text Solution

1. Arrange the following in the correct order of

their basic character 

(I)  (II)  (III) 

A. 

B. 

C. 

NH3 CH3NH2 C6H5NH2

III > II > I

II > III > I

II > I > III

https://dl.doubtnut.com/l/_lrtSslY0UZ5O
https://dl.doubtnut.com/l/_BTyp8UBlIQss


D. I=II=III

Answer: C

Watch Video Solution

2. When aniline is heated with chloroform and

caustic potash solution, we get

A. Phenyl iso cyanide

B. o-Chloro aniline

C. Benzoic acid

D. Phenol

https://dl.doubtnut.com/l/_BTyp8UBlIQss
https://dl.doubtnut.com/l/_ojQNluWUoS6Z


Answer: A

Watch Video Solution

3. Aniline dissolves in HCl due to the formation of

A. Anilinium chloride

B. o-chloro Anilin

C. Azodye

D. diazonium chloride

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ojQNluWUoS6Z
https://dl.doubtnut.com/l/_TiZUIx1YI4pC


Watch Video Solution

4. Acetanilide can be obtained by the following

A. Benzoylation of aniline

B. Alkylaion of nitro benzene

C. Acetylation of aniline

D. reaction between acetaldehyde and aniline

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TiZUIx1YI4pC
https://dl.doubtnut.com/l/_gU448pHLoc3R


Exercise 1 H W Test Other Reactions

1. Aniline reacts with excess of alkyl halide to give

A. amino compound

B. tertiary compound

C. azonmethane

D. quatermary ammonium compound

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_T5zf6ACjwoJl
https://dl.doubtnut.com/l/_ao8nhOHE12ZP


2. Which of the following compounds will dissolve

in an alkali solution after it has undergone

reaction with Hinsberg reagent?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(C2H5)NH

(CH3)3N

CH3NH2

C6H5NHC6H5

https://dl.doubtnut.com/l/_ao8nhOHE12ZP


3. Aniline on heating with fuming sulphuric acid

gives.

A. Aniline disulphate

B. Sulphanilic acid

C. Aniline sulphate

D. Aniline-2-, 4-disulphonic acid

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TTtBIogLDLWu


4. Bromine water reacts with aniline to give

A. o-bromoaniline

B. p-bromoaniline

C. m-bromoaniline

D. symmetric tribromoaniline

Answer: D

Watch Video Solution

5. N-alkyl aniline is the product of following

https://dl.doubtnut.com/l/_koTdMQUpQQIW
https://dl.doubtnut.com/l/_X7WT7hhdMn2V


A. Nitration of benzene

B. Alkylation of aniline

C. Acylation of aniline

D. Benzoylation of aniline

Answer: B

Watch Video Solution

6. Ethyl isocyanide on reduction with sodium and

alcohol gives:

A. Ethyl amine

https://dl.doubtnut.com/l/_X7WT7hhdMn2V
https://dl.doubtnut.com/l/_RpVbOgyvwmjy


B. Propyl amine

C. Dimethylamine

D. Ethyl methyl amine

Answer: D

Watch Video Solution

7. Cyanide is an:

A. Zwitter ion

B. Cation

C. Ambident nucleophile

https://dl.doubtnut.com/l/_RpVbOgyvwmjy
https://dl.doubtnut.com/l/_81L0dtRFBZRC


Exercise 2 C W

D. Electrophile

Answer: C

Watch Video Solution

1. Aniline is not the major product in one of the

following reactions. Identify that reaction.

A. 

B. 

C6H5OH + NH2
ZmCl2
−−−→
300 ∘C

C6H5NO2 + ZnPower
alcoholocKOH
−−−−−−−−→

https://dl.doubtnut.com/l/_81L0dtRFBZRC
https://dl.doubtnut.com/l/_jHFzC4awHuUj


C. 

D. 

Answer: B

Watch Video Solution

C6H5Cl + NH3
200 ∘C
−−−→
Cu2O

C6H5NO2 + Fe + H2O
HCl
−−→

2. Which one of the following amines cannot be

prepared by Gabriel phtahlimide synthesis?

A. Benzylamine

B. Aniline

C. Ethylamine

https://dl.doubtnut.com/l/_jHFzC4awHuUj
https://dl.doubtnut.com/l/_KfV3FnQ7MzlJ


D. Methalylamine

Answer: B

Watch Video Solution

3. In the Hoffmann Bromamide rearrangement,

intermediate species are

A. R-CO-NHBr

B. 

C. R-N=C=O

D. All

[R − CO
ϴ

N − Br]Na+

https://dl.doubtnut.com/l/_KfV3FnQ7MzlJ
https://dl.doubtnut.com/l/_7Zio6qQEKRrQ


Answer: C

Watch Video Solution

4. Acetamide is treated separately with the

following reagents. Which one of these would give

methylamine ?

A. 

B. Sodalime

C. 

D. Hot conc. 

PCl5

NaOH + Br2

H2SO4

https://dl.doubtnut.com/l/_7Zio6qQEKRrQ
https://dl.doubtnut.com/l/_5esLAJm15kVW


Answer: C

Watch Video Solution

5. Among the following the strongest base is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5NH2

p − NO2 − C6H4NH2

m − NO2 − C6H4NH2

C6H5CH2NH2

https://dl.doubtnut.com/l/_5esLAJm15kVW
https://dl.doubtnut.com/l/_9HXs2wPwMTH0


Watch Video Solution

6. Aniline (1 mole) react with bromine to give

symmetrical tribromoaniline. The amount of

bromine required is

A.  moles

B.  moles

C.  moles

D.  moles

Answer: A

Watch Video Solution

3.0

1.5

4.5

6.0

https://dl.doubtnut.com/l/_9HXs2wPwMTH0
https://dl.doubtnut.com/l/_5qA7fpxpwtPv


7. 

,

the  and  bonds in 'A' are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5Cl
NH3

−−−−−−−→
Cu2O , 200 ∘C

X, X
HNO3

−−−−→
0 − 5 ∘C

Z, X + Z → A

σ π

25σ, 6π

25σ, 7π

27σ, 7π

27σ, 6π

https://dl.doubtnut.com/l/_5qA7fpxpwtPv
https://dl.doubtnut.com/l/_1Vm0CvC4GF25


8. Aniline reacts with HCl and forms 'X' the type of

bonds in X are

A. ionic, covalent

B. ionic, covalent, dative

C. only covalent

D. only ionic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TVg681ySicVB


9. Which of the following is the strongest base ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wbESFomXISHC


10. Which of the following statement is incorrect ?

a)Oxide of aluminium  and arsenic 

 are amphoteric.
 b)Oxide of chlorine 

 is less acidic than oxide of nitrogen 

.
 c)Oxide of carbon  is more acidic

than oxide of silica .
 d)The correct

increasing order of basic character of various

oxides is .

A.  is soluble in water

B.  is water insoluble

C.  is stable at room temperature

(Al2O3)

(As2O3)

(Cl2O7)

(N2O5) (CO2)

(SiO2)

H2O < CuO < MgO < CaO

C6H5N2Cl

C6H5N2BF4

C6H5N2Cl

https://dl.doubtnut.com/l/_iSvX1MZbU1fG


D.  is stable at 

Answer: C

Watch Video Solution

C6H5N2Cl 0∘C

11. A positive carbylamine test is given by:

A. N.N-dimethyl aniline

B. isopropyl amine

C. diethyl amine

D. trimethyl amine

https://dl.doubtnut.com/l/_iSvX1MZbU1fG
https://dl.doubtnut.com/l/_mvlbQ8RugqAe


Answer: B

Watch Video Solution

12. Acid hydrolysis of methyl isocyanide gives:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3NH2 + HCOOH

CH3NH2 + CH3COOH

C2H5NH2 + HCOOH

CH3NH2 + CH3CH2COOH

https://dl.doubtnut.com/l/_mvlbQ8RugqAe
https://dl.doubtnut.com/l/_N5QvQr97LiZO


Watch Video Solution

13. Acetaldoxime reacts with phosphorus

pentoxide to give:

A. Methyl cyanide

B. Methyl cyanate

C. Ethyl cyanide

D. Ethyl isocyanide

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_N5QvQr97LiZO
https://dl.doubtnut.com/l/_RtzSuToILZeE
https://dl.doubtnut.com/l/_PNTz5u4PYaPX


14. Which of the following products is obtained

when methyl isocyanide reacts with chlorine?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3N = CCl2

CH3NCl − CCl2

ClCH2NC

Cl2CHNC

https://dl.doubtnut.com/l/_PNTz5u4PYaPX


15. Which of the following amides will not undergo

Hofmann bromamide reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CONH2

CH3CH2CONH2

C6H5CONH2

CH3CONHCH3

https://dl.doubtnut.com/l/_buqFejhThOmD


16. Amongst the given set of reactants, the most

appropriate for preparing  amine is..

A. 

B.  followed by 

C.  followed by 

D. (2 mol)+Potassium phthalimide

followed by /heat

Answer: C

Watch Video Solution

2∘

2∘R − Br + NH3

2∘R − Br + NaCN H2 /Pt

1∘R − NH + RCHO H2 /Pt

1∘RBr

H2O
+

https://dl.doubtnut.com/l/_5igxTxQrJcpq
https://dl.doubtnut.com/l/_ZBkqSSlFvwhN


17. Zwitter ion is formed by

A. Acetanilide

B. Benzanilide

C. Sulphanilic acid

D. Benzene sulphonamide

Answer: C

Watch Video Solution

18. Aniline doesn't react with

https://dl.doubtnut.com/l/_ZBkqSSlFvwhN
https://dl.doubtnut.com/l/_ZXNhtiZclrjF


A. dil HCl

B. dil NaOH

C. 

D.  water

Answer: B

Watch Video Solution

CH3COCl

Br2

19. In the following reaction 'C' is 

A. 

https://dl.doubtnut.com/l/_ZXNhtiZclrjF
https://dl.doubtnut.com/l/_pMBDJ756pMsM


B. 

C. 

D. 

Answer: B

View Text Solution

20. The compound  is optically active and

reacts with HONO to give . The

compound is

A. N-methylbutanamine

C5H13N

C5H11OH

https://dl.doubtnut.com/l/_pMBDJ756pMsM
https://dl.doubtnut.com/l/_2AWPYpmlsRf2


B. 2-Aminpentane

C. 1-Aminopentane

D. N,N-Dimethylpropanamine

Answer: B

Watch Video Solution

21. Which one of the following has the most

nucleophilic nitrogen ?

https://dl.doubtnut.com/l/_2AWPYpmlsRf2
https://dl.doubtnut.com/l/_ua7bkO3ZSwuB


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ua7bkO3ZSwuB


22. Predict the product 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_ZMvz3cJOyBCK


23. Identify the final product 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_HlYwlnLyjgnF


24. A given nitrogen-containing compound A

reacts with  followed by  to give

an unstable compund  on treatment with

pheno1 forms a beautiful coloured compound 

with the molecular formula  The

structure of compound  is .

A. 

B. 

C. 

D. 

Answer: B

Sn/HCI HNO2

B. B

C

C12H10N2O

A

https://dl.doubtnut.com/l/_DDDRdRw4Qocy


Exercise 2 H W

Watch Video Solution

1. What is the end product in the following

sequence of operations? 

A. ethyl cyanide

B. Methyl amine

C. ethyl amine

D. Acetamide

C2H5NH2
HNO2

−−−→ A
PCl5
−−→ B

alc.NH3

−−−−→ C

https://dl.doubtnut.com/l/_DDDRdRw4Qocy
https://dl.doubtnut.com/l/_jnkGYg5qiYj1


Answer: C

Watch Video Solution

2. Which of the following shows optical activity?

A. butanamine-1

B. butanamine-2

C. isoprpylamine

D. etylmethyl amine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jnkGYg5qiYj1
https://dl.doubtnut.com/l/_7OOXTUfHQ4W4


Watch Video Solution

3. In the reaction, 

the product  is

A. 

B. 

C. 

D. all the above

Answer: B

Watch Video Solution

C6H5NH2
NaNO2 +HCl
−−−−−−−−→

0 − 5 ∘C
(A)

CuCN
−−−→
KCN

(B)
H + /H2O

−−−−−→ (C)

(C)

C6H5CH2NH2

C6H5COOH

C6H5OH

https://dl.doubtnut.com/l/_7OOXTUfHQ4W4
https://dl.doubtnut.com/l/_93UVh4ZJ9WXA


4. Which of the following can distinguish the

three amines, viz…, primary , secondary and

tertiary?

A. Azo-dye test

B. Hinsberg reagent

C. Carbyl amine reaction

D. Solubility test

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_93UVh4ZJ9WXA
https://dl.doubtnut.com/l/_S9GzgBjiLtIH


5. Aniline and diphenylamine may be distinguished

by

A. Lassaigne's test

B. Schiff's test

C. Carbyl amine reaction

D. Solibility test

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XMpfZVbRj6NZ


6. Match the compounds given in List I with their

characteristic reactions given in List II. Select the

correct option 

A. a-(ii), b-(i), c-(iv), d-(iii)

B. a-(iii), b-(ii), c-(i), d-(iv)

C. a-(ii), b-(iii), c-(i), d-(iv)

D. a-(iv), b-(ii), c-(iii), d-(i)

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_W03AM2WTDT5f


7. The compound which on rection with aqueous

nirous acid at low temperature produces an oily

nitrosamine, is

A. methyl amine

B. ethyl amine

C. diethyl amine

D. triethyl amine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Z18qwyY5uDQX
https://dl.doubtnut.com/l/_TThNtEGW1G5z


8. The only stable organic functional group in

which carbon is divalent is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

:CCl2

:CH2

:CBr2

R − Nc

https://dl.doubtnut.com/l/_TThNtEGW1G5z


9. Electrophilic and Nucleophilic reagents give

addition on the same atom of the molecule in

A. Cyanide

B. Isocyanide

C. Aldehyde

D. Ketone

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_32o1Tri5T6aW


10. In the following reaction, the product (A) is 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_g7056YTfd1vD


11. Best method to form aromatic iodide is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ArN +
2 + HI →

RNH2 + I2 →

ArN +
2 + KI →

ArN +
2 + PI3 →

https://dl.doubtnut.com/l/_ZqJ2bDp6AlEU


12. In the following reaction, X stands for 

A. 

B. NHOH

C. 

D. 

Answer: B

View Text Solution

NH2

N +H3Cl
−

N = N − C6H5

https://dl.doubtnut.com/l/_MLU0GeOieKLP


13. Identify the product (E ) in the following

sequence of reactions 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_5RJSdaJmcJHw
https://dl.doubtnut.com/l/_BmVXuKoRmavU


14. The most basic compound in the following is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

CH3NH2

NH(CH3)2

N(CH3)2

15. Compound 'A' yield benzylamine on reaction

with  following by hydrolysis. The reactionLiAIH4

https://dl.doubtnut.com/l/_BmVXuKoRmavU
https://dl.doubtnut.com/l/_lhtJiVUzcc40


of 'A' with NaOH and  will yield

A. benzamine

B. aniline

C. nitrobenzene

D. N-bromoanile

Answer: B

Watch Video Solution

Br2

16. Which one of the following isomeric amines

has the highest boiling point

https://dl.doubtnut.com/l/_lhtJiVUzcc40
https://dl.doubtnut.com/l/_gT9w9afi1Ul9


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH2 − CH2NH − CH3

CH3 − CH2 − NH − CH2 − CH3

(CH3)2N − CH2 − CH3

(CH3)2CH − CH2 − NH2

17. In the following sequence of reaction : 

 


The compound A is

A 
Reduction
−−−−−→  B

HNO2

−−−→ CH3CH2OH

https://dl.doubtnut.com/l/_gT9w9afi1Ul9
https://dl.doubtnut.com/l/_DF2orNe7m6qT


A. propane nitrile

B. ethane nitrile

C. nitromethane

D. methyl isocyanide

Answer: B

Watch Video Solution

18. Carbylamine reaction is given by

A. primary

B. secondary

https://dl.doubtnut.com/l/_DF2orNe7m6qT
https://dl.doubtnut.com/l/_Zuu6kNQiLjqz


C. tertiary

D. quatermary

Answer: A

Watch Video Solution

19. A mixture of methylamine and dimethylamine

is given to you. The reagents used to separate the

compenents of the mixture are

A.  and HCl

B.  and KOH

CHCl3

C6H5SO2

https://dl.doubtnut.com/l/_Zuu6kNQiLjqz
https://dl.doubtnut.com/l/_3oyhG5YUiB4M


C.  and HCl

D.  and KOH

Answer: B

View Text Solution

C6H5SO2

CHCl3

20. The correct order of basic strength of the

following is 

A. 

B. 

1 > 2 > 3 > 4

4 > 2 > 3 > 1

https://dl.doubtnut.com/l/_3oyhG5YUiB4M
https://dl.doubtnut.com/l/_7VmxMn0bLrzN


C. 

D. 

Answer: D

View Text Solution

3 > 4 > 2 > 1

3 > 2 > 4 > 1

21. A compound with nitro group was reduced by

, followed by treatment with 

 and followed by phenol. The

chromophore group in the compound is

A.  group

Sn/HCl

NaNO2 /HCl

NO2

https://dl.doubtnut.com/l/_7VmxMn0bLrzN
https://dl.doubtnut.com/l/_vmLmZc7K5y7o


B.  group

C. azo group

D. OH group

Answer: C

View Text Solution

NH2

22. Aniline is treated wi.th bromine water to give

an organic compound X which when treated with

 and HCI at  gives a water soluble

compound Y. Compound Yon treatment with

NaNO2 0∘C

https://dl.doubtnut.com/l/_vmLmZc7K5y7o
https://dl.doubtnut.com/l/_DwbbThcWalgv


 and HCI gives compound Z . Compound Z

is

A. o-bromochlobenzene

B. p-bromochlorobenzene

C. 2,4,6-tribromophenol

D. 2,4,6-tribromochlorobenzene

Answer: D

Watch Video Solution

Cu2Cl2

https://dl.doubtnut.com/l/_DwbbThcWalgv


23. The conversion of m-nitrophenol to resorcinol

inivolves respectively

A. hydrolysis, diazotization and reduction

B. diazotization, reduction and hydrolysis

C. hydrolysis, reduction and diazotization

D. reduction, diazotization and hydrolysis.

Answer: D

Watch Video Solution

:

https://dl.doubtnut.com/l/_qh0PRMDxKRGK


24. Identify the product (E ) in the following

sequence of reactions. 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_exlYTJRm0yeW


Exercise 3

1. Which one of the following -compounds does

not react with nitrous acid ? .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tpQ5I3BzFJ4B


2. The correct statement regarding the basicity of

arylamines is .

A. arylamines are generally more basic than

alkylamines because of aryl group

B. arylamines are generally more basic than

alkylamines, because the nitrogen atom in

arylamines is sp-hybridised

C. arylamines are generally less basic than

alkylamines because the nitrogen lone-pair

https://dl.doubtnut.com/l/_McAo8G9hl3ro


electrons are delocalised by interaction with

the aromatic ring -electrons system

D. arylamines are generally more basic than

alkyamines because the nitrogen lone-pair

electrons are not delocalised by interaction

with the aromatic ring -electron system.

Answer: C

Watch Video Solution

π

π

https://dl.doubtnut.com/l/_McAo8G9hl3ro


3. The product formed by the reaction of an

aldehyde with a primary amine is:

A. carboxylic acid

B. aromatic acid

C. Schiff's base

D. ketone

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Ikzwj7Fnb0qk


4. Reactivity order of following towards NaOEt,

EtOH 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

III > II > I

II > I > III

I > II > III

III > I > II

https://dl.doubtnut.com/l/_WZhJ6sj3cv8v
https://dl.doubtnut.com/l/_eBRRaJnyfXqF


5. Electrolytic reduction of nitrobenzene in weakly

acidic medium gives .

A. Aniline

B. Nitrosobenzene

C. N-phenylhydroxylamine

D. p-hydroxyaniline

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_eBRRaJnyfXqF


6. Which one of the following methods is neither

meant for the synthesis nor for separation of

amines ?

A. Cutius reaction

B. Wutz reaction

C. Hofmann method

D. Hinsberg method

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YROtEGZyqBQ4
https://dl.doubtnut.com/l/_PpSuJjnvUawU


7. Pyridine is less basic than triethylamine because

.

A. pyridine has aromatic character

B. nitrogen in pydrine is  hybridised

C. pyridine is a cyclic system.

D. in pyridine lone pair of nitrogen is

delocalised.

Answer: A

Watch Video Solution

sp2

https://dl.doubtnut.com/l/_PpSuJjnvUawU


8. The reaction of primary amine with chloroform

and ethanolic solution of KOH is called:

A. Hofmann's reaction

B. Reimer-Tiemann's reaction

C. Carbylamine reaction

D. Kolbe, s reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6jXeufKgQUot


9.  


The compound X is

A. , boil

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2C ≡ N
X

−−→ CH3CH2CHO

SnCl2 /HCl/H2O

H2 /Pd − BsSO4

LiAIH4 /ether

NBH4 /ether /H2O
+

https://dl.doubtnut.com/l/_t9Q1K4FquXIl


10. Which one of following on reduction with

lithium aluminium hydride yields a secondary

amine ? .

A. Nitroethane

B. Methylisocyanide

C. Acetamide

D. Methyl cyanide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_19W0Y7TaKS4r
https://dl.doubtnut.com/l/_17OHVEZ0AY7q


11. Which of the following reaction can produce

aniline as main product ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C6H5NO2 + n/KOH

C6H5NO2 + Zn/NH4Cl

C6H5NO2 + LiAIH4

C6H5NO2 + Zn/HCl

https://dl.doubtnut.com/l/_17OHVEZ0AY7q


12. Which of the following statements about

primary amines is false ? .

A. Alkyl amines stronger bases than ammonia

B. Alky amines are stronger bases than aryl

ammonia

C. Aryl amines react with nitrous acid to

produce aicohols.

D. Aryl amines react with nitrous acid to

produce phenols.

Answer: B

https://dl.doubtnut.com/l/_3Xf29Vq63QmZ


Watch Video Solution

13. Acetamide is treated with the following

reagents seprately.Which one of these would yield

methyl amine?

A. 

B. 

C. Sodalime

D. Hot conc. 

Answer:

W h Vid S l i

PCl5

NaOH − Br2

H2SO4

https://dl.doubtnut.com/l/_3Xf29Vq63QmZ
https://dl.doubtnut.com/l/_gvsRtOy45L2P


Watch Video Solution

14. Primary, secondary and tertiary amines can be

distinguished by

A. Schiff's test

B. Fehling's test

C. Tollen's test

D. Hinsberg's test

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gvsRtOy45L2P
https://dl.doubtnut.com/l/_CrLQiiyIrpwx


15.  gas will not be evolved upon reaction of 

 with which of the following amines ?

A. 

B. 

C. 

D. Both (2) & (3)

Answer: D

Watch Video Solution

N2

HNO2

1∘

2∘

3∘

https://dl.doubtnut.com/l/_hGoqGMGOrtaJ


16. An organic compound  when

treated with ntrous acid gave an alcohol and 

gas was evolved  on warming with 

and caustic potash gave  which on reduction

gave is isoproymethylamine Predict the structure

of  .

A. 

B. 

C. 

D. 

Answer: B

A(C3H9N)

N2

(A) CHCI3

(C)

(A)

https://dl.doubtnut.com/l/_VurD80NCLQKS


Watch Video Solution

17. Nitrobenzene on reaction with conc

 at  forms which one

of the following products .

A. 1,2-Dinitrobenzene

B. 1,3-Dinitrobenzene

C. 1,4-Dinitrobenzene

D. 1,2,4-Trimitrobenzene

Answer: B

W h Vid S l i

HNO3 /H2SO4 80 − 100∘C

https://dl.doubtnut.com/l/_VurD80NCLQKS
https://dl.doubtnut.com/l/_i40rMZN9vZaP


Watch Video Solution

18. In the reaction A is 

A. 

B. 

C.  and 

D. 

Answer: C

View Text Solution

HgSO4 /H2SO4

Cu2Cl2

H3PO2 H2O

H + /H2O

https://dl.doubtnut.com/l/_i40rMZN9vZaP
https://dl.doubtnut.com/l/_C6ap6d9Hj314


19. Which of the following compounds will not

undergo Friedel  Crafts reaction easily ?

A. Cumene

B. Xylene

C. Nitrobenzene

D. Toluene

Answer: C

Watch Video Solution

−

https://dl.doubtnut.com/l/_8DwN995i8HVq


20. Which of the following reagents would not be

a good choice for reducing an aryl nitro

compound to an amine?

A. (excess)Pt

B.  in ether

C. Fe and HCl

D. Sn and HCl

Answer: B

Watch Video Solution

H2

LiAH4

https://dl.doubtnut.com/l/_YAW1s58tpe65
https://dl.doubtnut.com/l/_G06qOHdNgfDA


21. Which of the following will be most stable

diazonium salt ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

RN +
2 X −

C6H5CH2N
+

2 X −

CH3N
+

2 X −

C6H5N
+

2 X −

CH3CH2N
+

2 X −

https://dl.doubtnut.com/l/_G06qOHdNgfDA


22. In the following reaction, the product (A) is 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_bxTRhPSe1lez


23. The number of structure isomers possible from

the molecular formula  is:

A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

C3H9N

https://dl.doubtnut.com/l/_YXuivR551Pj4


24. The following reaction 

 

is known by the name :

A. Acetylation reaction

B. Schotten-Baumen reaction

C. Friedel-Craft's reaction

D. Perkin's reaction

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_1tA2W4UvFJGM
https://dl.doubtnut.com/l/_afbdQ1HxXTph


25. Method by which aniline cannot be prepared

is:

A. reduction of nitrobenzene with  in

ethanol.

B. potassium salt of phthalimide treated with

chlorobenzene followed by hydrolysis with

aqueous NaOH solution.

C. hydrolysis of phenylisocyanide with acidic

solution.

D. degradation of benzamide with bromine in

alkaline solution.

H2 /Pd

https://dl.doubtnut.com/l/_afbdQ1HxXTph


Answer: B

Watch Video Solution

26. The electrolytic reduction of nitrobenzene in

strongly acidic medium produces .

A. Azobenzene

B. Aniline

C. p-Aminophenol

D. Azoxybenzene

Answer: C

https://dl.doubtnut.com/l/_afbdQ1HxXTph
https://dl.doubtnut.com/l/_p1wu6RG1fgOW


Watch Video Solution

27. Which of the following reagents cannot be

used for the given conversion ? 

A. Sn-HCl

B. Fe-HCl

C. 

D. 

Answer: C

LiAIH4

Pd/C

https://dl.doubtnut.com/l/_p1wu6RG1fgOW
https://dl.doubtnut.com/l/_zuVU8BwVpNsl


View Text Solution

28. Which one of the following isomeric amines

has the highest boiling point

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH2 − CH2NH − CH3

CH3 − CH2NH − CH2 − CH3

(CH3)2N − CH2CH3

CH3CH2CH2 − NH2

https://dl.doubtnut.com/l/_zuVU8BwVpNsl
https://dl.doubtnut.com/l/_fCwBCW1ECpP1


29. Which amine amongst the following will

answer positively the carbylamine test ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H5 − NH − CH3

C6H5 − NH − C6H9

C6H5 − N(C2H5)2

https://dl.doubtnut.com/l/_WPTtE5foydJS


30. An organic compound 'A' on reduction give

compound 'B' which on reaction with

trichloromethane and caustic potash foms 'C'. The

compound 'C' on catalytic reduction give N-methyl

benzenamine, the compound 'A' is:

A. nitrobenzene

B. nitromethane

C. methanamine

D. benzenamine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pm1ku833D6tK


Watch Video Solution

31. A mixture of methylamine and dimethylamine

is given to you. The reagents used to separate the

compenents of the mixture are

A.  and HCl

B.  and KOH

C.  and HCl

D.  and KOH

Answer: B

View Text Solution

CHCl3

C6H5SO2

C6H5SO2Cl

CHCl3

https://dl.doubtnut.com/l/_pm1ku833D6tK
https://dl.doubtnut.com/l/_530d6ew30UWq


32. Which of the nitrogen atoms in

 is the most

nucleophilic ?

A. III

B. I

C. II

D. All three nitrogen atoms are equally strong

nuclephilic centers.

Answer: B

H2N
I

− NH
II

−

O

∣ ∣

C − NH2
III

https://dl.doubtnut.com/l/_530d6ew30UWq
https://dl.doubtnut.com/l/_s3DMWwJICtm8


Exercise 4

Watch Video Solution

1. The final products is the following sequenceof

reaction is 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_s3DMWwJICtm8
https://dl.doubtnut.com/l/_T01P4QMKRr29


Answer: C

View Text Solution

2. Aniline reacts with acetic anhydride to give

A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_T01P4QMKRr29
https://dl.doubtnut.com/l/_pyzfAbtTP7F0


Watch Video Solution

3. What reagent is used In the Hinsberg's test of

amines?

A.  and pyridine

B.  in aq. NaOH

C.  in aq. 

D.  (excess) followed by AgOH

Answer: B

Watch Video Solution

(CH3CO)2O

C6H5SO2Cl

NaNO2 H2SO4

CH3l

https://dl.doubtnut.com/l/_pyzfAbtTP7F0
https://dl.doubtnut.com/l/_PQp2dgi8s34G


4. In order to convert aniline into chlorobenzene

the reagents needed are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaNO2 /HCl, CuCl + HCl

Cl2 /CCl4

Cl2 /AlCl3

CuCl2

https://dl.doubtnut.com/l/_sGmIYhPmRUAw


5. Hydrolysis of phenylisocyanide forms

A. benzonic acid

B. formic acid

C. acetic acid

D. None of these

Answer: B

Watch Video Solution

6. Hydrolysis of eyanogen gives

https://dl.doubtnut.com/l/_dUX9u4WUL3vb
https://dl.doubtnut.com/l/_MsMqNzkSoqL6


A. oxalic acid 

B. oxalic acid

C. 

D. None of these

Answer: A

Watch Video Solution

+NH3

NH3

7. m- bromoaniline can be prepared by .

A. 

B. 

C6H6
HNO3

−−−→
H2SO4

1 .Sn−HCl
−−−−−−−−→
2 .NaOH .H2O

br2

−−→
H2O

C6H6
Br2

−−→
feBr3

HNO3

−−−→
H2SO4

H2

−−→
Pt

https://dl.doubtnut.com/l/_MsMqNzkSoqL6
https://dl.doubtnut.com/l/_IerKLz4FKjE5


C. 

D. 

Answer: C

Watch Video Solution

m − BrC6H4COOH
SOCl2
−−−→

NH3

−−→
Br2 .NaOH
−−−−−−→

H +

C6H5NH2
NaNO2 .HCl
−−−−−−−→

Cu2Br2

NaNH3

−−−−→

8. Nitrobenzene can be prepared from benzene by

using a mixture of cone.  and cone. 

In the mixture, nitric acid acts as a/an

A. reducing agent

HNO3 H2SO4

https://dl.doubtnut.com/l/_IerKLz4FKjE5
https://dl.doubtnut.com/l/_ml1hs1SOTcVt


B. acid

C. base

D. catalyst

Answer: C

Watch Video Solution

9. The product 'Y' in the following reaction

sequence is 

A. 

https://dl.doubtnut.com/l/_ml1hs1SOTcVt
https://dl.doubtnut.com/l/_TIMJT4SCxmgS


B. 

C. 

D. 

Answer: C

View Text Solution

10. Identify the product E ) in the following

sequece of reactions. 

A. 

https://dl.doubtnut.com/l/_TIMJT4SCxmgS
https://dl.doubtnut.com/l/_w18Nl2YE6nL6


B. 

C. 

D. 

Answer: B

View Text Solution

11. The reaction of chloroform with alcoholic

 and p-toluidine form-

A. 

B. 

KOH

https://dl.doubtnut.com/l/_w18Nl2YE6nL6
https://dl.doubtnut.com/l/_7eD9JyLWK16q


C. 

D. 

Answer: D

Watch Video Solution

12. Which one of the following is an example of 

amide ?

A. 

3∘

https://dl.doubtnut.com/l/_7eD9JyLWK16q
https://dl.doubtnut.com/l/_pPPOx3kpdlvy


B. 

C. 

D. 

Answer: A

Watch Video Solution

13. The product of the given reaction is 

https://dl.doubtnut.com/l/_pPPOx3kpdlvy
https://dl.doubtnut.com/l/_Apr4f5FzeArj


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

14. Which of the following reagents can be used to

convert primary amides into primary amines

containing the same number of carbon atoms ?

https://dl.doubtnut.com/l/_Apr4f5FzeArj
https://dl.doubtnut.com/l/_RNQ8WOnGu7YZ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Br2 + NaOH

LiAIH4

Sn + HCl

Na + C2H5OH

15. Which of the following chemicals are used to

manufacture methy1 isocyanate that caused

Bhopal Tragedy ? 

https://dl.doubtnut.com/l/_RNQ8WOnGu7YZ
https://dl.doubtnut.com/l/_lY2q9dYWDmUL


Methylamine 

(ii) Phosgene 

(iii) Phosphine (iv) Dimethylamine .

A. (i) and (iii)

B. (ii) and (iv)

C. (i) and (ii)

D. (ii) and (iv)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lY2q9dYWDmUL


16. The major organic product formed from the

following reaction 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_vmdicXNniBEz
https://dl.doubtnut.com/l/_G3QBqFZDgvdx


17. The following reaction gives : 

4-nitrotoluene ?

A. 4-nitrobenzaldehyde

B. 4-nitrobenzyl alcohol

C. 4-aminotoluene

D. 4-nitrobenzoic acid

Answer: A

Watch Video Solution

K2Cr2O7

−−−−→
H2S4

https://dl.doubtnut.com/l/_G3QBqFZDgvdx


18. The example of an electrophilic substitution

reaction is

A. 

B. 

C.  


D. 

Answer: B

Watch Video Solution

H2C = CH − CH3
HBr

−−−−→
peroxide

Br2 − CH2 − CH2 − CH3

H2CH2 − CH2 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_LjicOJdxTo9j


19. An aromatic compound A ( ) on reacting

with  / HCI at  forms benzyl alcohol

and nitrogen gas. The number of isomers possible

for the compound A is

A. 5

B. 7

C. 3

D. 6

Answer: A

Watch Video Solution

C7H9N

NaNO2 0∘C

https://dl.doubtnut.com/l/_LjicOJdxTo9j
https://dl.doubtnut.com/l/_Y9TFpHimCUCv


20. An organic compound   when

treated with nitrous acid , gave an alcohol and 

gas was evolved. (A) on warming with  and

caustiv potash gave  which on reduction gave

isopropylmethylamine. Predict the structure of (A).

A. 

B. 

C. 

D. 

(C3H9N) (A)

N2

CHCl3

(C)

CH3CH2 − NH − CH3

CH3 − N
∣

H3C

− CH3

CH3CH2CH2 − NH2

https://dl.doubtnut.com/l/_Y9TFpHimCUCv
https://dl.doubtnut.com/l/_FTDVnDfKCcLI


Answer: A

Watch Video Solution

21. Which of the following reagents could be used

to distinguish aniline from methanamine ? 

Bromine water

 and aqueous KOH 


Dilute HCl 

Nitration mixture under heated condition

A. (i) only

B. (i) and (ii)

CHCl3

https://dl.doubtnut.com/l/_FTDVnDfKCcLI
https://dl.doubtnut.com/l/_Vplzoh3UHkqz


C. (i) and (iii)

D. (i) and (iv)

Answer: D

View Text Solution

22. Maximum number of molecules of  that

can react with a molecule of  are

A. 3

B. 4

C. 2

CH3I

CH3NH2

https://dl.doubtnut.com/l/_Vplzoh3UHkqz
https://dl.doubtnut.com/l/_WmUfuTICiwei


D. 1

Answer: A

Watch Video Solution

23. Which of the followinmg is soluble in sodium

hydroxide ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_WmUfuTICiwei
https://dl.doubtnut.com/l/_pU6zMfNEXiST


Answer: D

Watch Video Solution

24. Identify the major product for the reaction

given below.

A. 

B. 

C. 

D. 

Answer: D

https://dl.doubtnut.com/l/_pU6zMfNEXiST
https://dl.doubtnut.com/l/_qToIXmXch38d


View Text Solution

25. What is the majot product of the following

reaction ? 

A. 

B. 

C. 

D. 

Answer: C

Vi T S l i

https://dl.doubtnut.com/l/_qToIXmXch38d
https://dl.doubtnut.com/l/_q93qLMzgfkey


View Text Solution

26.  

the product B is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_q93qLMzgfkey
https://dl.doubtnut.com/l/_s4x9smIRhufd


27. An organic compound 'A' on reduction give

compound 'B' which on reaction with

trichloromethane and caustic potash foms 'C'. The

compound 'C' on catalytic reduction give N-methyl

benzenamine, the compound 'A' is:

A. nitrobenzene

B. nitromethane

C. methanamine

D. benzenamine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1c5ufrS3lCCq


Watch Video Solution

28. Which one of the following amines forms a

non-acidcic and alkali insoluble product with p-

toluenece sulphonyl chloride?

A. Tertiary butylamine

B. n-Butylamine

C. Isobutylamine

D. Diethylamine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1c5ufrS3lCCq
https://dl.doubtnut.com/l/_TdMEGlfkSJJK


29. The reagent that is used to distinguish

between secondary amine and teritary amine is:

A. p-toluenesulphonyl chlorides

B. Lucas reagent

C.  and alc. KOH

D. Borche's product.

Answer: A

Watch Video Solution

CHCl3

https://dl.doubtnut.com/l/_TdMEGlfkSJJK
https://dl.doubtnut.com/l/_2ffS6I3Xm3qm
https://dl.doubtnut.com/l/_ss5xYduF7pfh


30. Predict the product 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_ss5xYduF7pfh

